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Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :
() @ g7 IErt &

All questions are compulsory.
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(i) 797 FF%F 1 @ 40 G%F JEGTC Jo7 81 F9F FoT 1 G FH 8 FE I G
gee-giaar 4l

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. T TF ............ AT B 1
(A) 3 (B) oA
(©) g% (D) amfes
Management is a ............ force.
(A) Visible (B) Invisible
(C) Separate (D) Collective
2. yEe s e R (@&l 7)1
Management is an inexact science. (True/ False)
3. T 1
(A) TH R
(B) T Sk
(C) TH WU
(D) 7 § Hi§ &

Management is :
(A) An Activity
(B) A Process

(C) A Tradition

(D) None of these
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4. UFEH T & Q- S a9 © 7 1
(A) o HMHo
(B) THo HHo
(C) THo dlo To
(D) ™ § ®iE T
Which degree is required to become a manager ?
(A) B. Com.
(B) M. Com.
(C) M.B.A.

(D) None of these

5. g &g TR A ... T B 1
(A) 5 (B) &
© T (D) =g
Staffing is the ............ stage of the management process.
(A) First (B) Second
(C) Third (D) Fourth
6. TRIMEET kAT B I HT & T HH H A ... i B =iy 1
(A) T B) &
(©) o= (D) =R
At least ........... people is/peoples are required to complete communication
process.
(A) One (B) Two
(C) Three (D) Four
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7. 9 H Q -9 U B HE TE D 7

(A) RS (B) fwgferienter

(©) e (D) T & g T
Which of the following is not a function of management ?
(A) Planning (B) Staffing

(C) Co-operating (D) None of these

8. fa-Fmir fraes e & ?
(A) 7w ydER B
(B) WA &R USEH
(C) = WX Jeeh &l
(D) Sqer @l
Policy formation is the function of :
(A) Lower level managers
(B) Middle level managers
(C) Top level managers

(D) All of the above

9. Jsi+h JeY & fudm i B ?

(A) SIS o X
(B) B B

(C) Tho T=o T
(D) & § PI§ T

Who is father of Scientific Management ?
(A) George R. Terry

(B) Henry Fayol

(C) F.W. Taylor

(D) None of these
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10. 3sh Yee -1 qRadH o & ? 1
(A) B qRExE
(B) SRS UREdH
(C) e gRadH
(D) A TRE
What changes does scientific management bring ?
(A) Fashion change
(B) Production change
(C) Economic change

(D) Mental change

11. B0 %4 o1, O ¢ 1
(A)  THISEH ASH
(B) T R
(C) @R
(D) S SR
Henry Fayol was a :
(A) Social Scientist
(B) Mining Engineer
(C) Accountant

(D) Production Engineer
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14.

(6) 5609/(Set

Tho =go T Y

() FR R

(B) @IS Asfiieh

(C) HebiveheT FofifraX

(D) & SR

F. W. Taylor was :

(A) Computer Engineer
(B) Social Scientist

(C) Mechanical Engineer

(D) Mining Engineer

= & @ H-a1 Ao & UeR 7@ R ?

(A) s B) Frm

(C) W= (D) el
Which of the following is not the type of Planning ?

(A) Programme (B) Rule

(C) Product (D) Procedure
R R T

(A) eyt (B) &

(C) 3& (D) ST & | &5 ol
Planning is ............. .

(A) Flexible (B) Permanent
(C) Rigid (D) None of these
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15. 1s0rrrs0r00ss, T9E BT HAUR & B 1
(A)  €TeH (B) fE=or
(C) e (D) T & FE T
1939393939539353, 1S the primary function of management.
(A) Organizing (B) Control
(C) Planning (D) None of these
16. AT 96 &l .......... 4 Bl 1
(A) muH (B) fadi=
© T (D) =g
Planning is the .......... function of management.
(A) First (B) Second
(C) Third (D) Fourth
17. EH wh ofek @ 1
(A) R
B) R
(©) arfd®
(D) & & g T

Planning is a process :
(A) Periodical

(B) Continuous

(C) Annual

(D) None of these
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18. [N T% AH® THM (el ) 1
Planning is a mental exercise. (True/ False)
19. TS HLE & fha T greq § 7 1
(&) [ (B)
(C) IR (D) s MivEa d@emr &
How many types of organization structure ?
(A) Two (B) Three
(C) Four (D) Number not fixed
20. T TR 69 @6 o F B © ¢ 1
() ST (B) SHIT=IRE
(©) (A) T (B) I (D) & & B Tl
Group norms are part in which of the following ?
(A) Formal (B) Informal
(C) Both (A) & (B) (D) None of these
21. HH-A1 G URad & g e @ ? 1
() o=
(B) SIT=®
(© (&) w (B) I
(D) & & g T

Which organization opposes/resists change ?
(A) Formal

(B) Informal

(C) Both (A) & (B)

(D) None of these
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22. T 39 IMHR & o1 Tefieedt @ e Fear & : 1

23.

(A) FEET rAE

(B) T

(C) u&g 1 fa&X

(D) W

The number of subordinates under a higher officer is called :
(A) Office Environment

(B) Tight Control

(C) Span of Management

(D) Scalar Chain

Fr=t & | ®H-91 ARG H qeT 78 8 7 1
(A)  IRETAT

(B) tfEEpR

(C) ST=RS T

(D) SIS

Which of the following is not an element of delegation ?

(A) Accountability

(B) Authority

(C) Informal Organization

(D) Responsibility
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24. fa@=RHor 718 ? ’
(A) AR FH TR &Y
(B) WM % e &9
(C) ARMY & Heg &Y
(D) & & K Tl
What is Decentralization ?
(A) Narrow form of delegation
(B) Wide form of delegation
(C) Moderate form of delegation

(D) None of these

25. e & afa 7@ & ¢ 1
(A) =TI
(B) HfarEroT
(C) e
(D) &I
Which of the following is not included in staffing ?
(A) Selection
(B) Training
(C) Direction
(D) Promotion
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26. = § § FYRRIHOT & 0@ -1 & 7
(A)
(B) =3I
(C) HfarEroT
(D) SYer @l
Which is the element of staffing ?
(A) Recruitment
(B) Selection
(C) Training

(D) Above all

27, TH TH oo, st 51 (@rel & 9T

28. THIASIG GUETSt H S B
(A) B qden
(B) wgfr qdiem
(C) gf&mr udiem
(D) IUAFT Gl
Psychological tests include :
(A) Interest test
(B) Aptitude test
(C) Intelligent test

(D) All of the above
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29. /=1 & ¥ FRIN #1 a F=-a1 B 7

(A)
(B)
(C)

(D)

SEERICIES |
SRR

(A) T (B) &
SUCE]

Which of the following is an element of Direction ?

(A)
(B)
(C)

(D)

30. ......

Communication
Motivation
Both (A) & (B)

Organization

T A FIE T

....... is an example of monetary incentive.

Bonus
Status
Job-Security

None of these
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33.

(13) 5609/(Set : A)

Fret & | G & WeEd HiE-91 6 1
(A) i

(B) A

(€) fofea ud M

(D) Sfo=IRe

Which is the media of communication ?

(A) Written

(B) Verbal

(C) Written and Verbal

(D) Formal

Fr=t & & i9-a1 TIwer gk & qa 78 © ¢ 1
(A) HEEH

(B) ST Uikl

(C) &Huw

(D) HesmErE

Which of the following is not an element of Communication Process ?

(A) Media

(B) Receiver

(C) Communication

(D) Decoding
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34, .o, IFHIEH IO H I o 1
(A) 9
(B) &R HU=TC
(C) Far guam
(D) ST |l

............... is an example of non-monetary incentive.
(A) Status

(B) Job Enrichment

(C) Job Security

(D) All of the above

35. 79 ¥ 9@ feh® SR H IEMEXT B & 7 1
(A) TR
(B) HHeRi
(C) =%
(D) & & K Tl
Which of the following is an example of durable product ?
(A) Furniture
(B) Candle
(C) Salt
(D) None of these
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36. ‘sTaY fr= & | frwe SEE & ? 1
(A) SiS
(B) g -
(C) SR
(D) ST |l
'Dunlop' is an example of which of the following ?
(A) Brand
(B) Brand Name
(C) Branding

(D) All of the above

37. ‘Qfe hiw g P § § g SeET & 7 1
(A)  uREET YT
(B) et YBfHT
(C) faciiaes YafstT
(D) SWF |l
'Shaving cream tube' is an example of which of the following ?
(A) Transportation packaging
(B) Primary packaging
(C) Secondary packaging
(D) All of the above

5609/(Set : A)/ I P.T.O.



(16) 5609/(Set : A)

38. oo, frqor ferameem, SuseRT T W AR A ' (@rd & 9RT) 1

.............. concept of marketing, emphasis on Consumer Welfare.

(Fill in the blank)

39. = TRl T AR AR B AT B L. FEd 1
(A) I8 FEfA I
(B) & Frs it
(C) = gl
(D) ST HIg TE
Difference between the current assets and current liabilities is called ..............
(A) Net working capital
(B) Gross working capital
(C) Fixed capital

(D) None of the above

40. CPM & QU &9 fdiau| 1

Write full form of CPM.
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